61 psElFHE 5058 JERYER

6H5 | A | BsE | &8 | SAIEE]

P4 | AEAR | BEAR | R £ H | H |95
SRR I 12 1121 6 | 28] 12
BEEER| — 6 1121 6 | 5] 6
HERE  — 5 1121 6 [15] 10
EE e - 2 250 | /phmEE 112 6 [ 5[ 4
AERE| — 2 250 | /hveEL ] 112 6 | 16| 24
JiR®| = 6 250 | /phmEE 112 6 [ 2] 10
EEE = 10 250 | /pmEE] 112 6 [12] 21
PRAAEE| — 10 250 | /hEEE | 112] 6 | 19 25
PTE 11 250 [ /heEL ] 112] 6 | 12] 2
WEZEl = 17 250 | /pmEEl 12 6 [ 1| 7
SiE  — 4 250 | /hEE[ 112 6 [ 8 | 33
EEF — 11 250 | /pmEE 112 6 [17] 3
fiEFR| Y 12 100 [/MEE]112f 6 [ 6] 5
G —— 13 100 | /112 5 | 30] 24
TR = 2 100 | /MEE]112] 6 [16] 19
=B - 2 100 | /N1 112) 6 | 7] 27
wHEE)| = 3 100 | /M 112] 6 119] 3
THEE| = 3 100 | /M 112] 6 [19] 7
WHE| = 3 100 | /MEE]112] 6 [ 19] 21
EME — 3 100 | /112 6 | 12] 2
wiE 6 100 | /1112 6 | 5] 2
E=FE| = 11 100 | /1112 6 | 12] 2
= 11 100 | /MEE1121 6 | 7] 3
MET| = 11 100 [/ 112] 6 [ 7] 4
BEE| 11 100 | /112 6 | 13] 14
HEE T 11 100 | /112 6 | 7] 21
EuEE| — 11 100 [ /M2 112] 6 | 8] 27
=2 - 11 100 [ /B 112] 6 | 7] 28
BEs| = 16 100 |/ 112] 6 [14] 12
REHE| = 17 100 | /2112 6 [ 7] 2
BEHmE]  — 4 100 | /112 6 [ 12] 10
L= - 9 100 | /M2 112] 6 [13] 2
HIgZE|  — 9 100 |/ 112 6 [ 14] 26
EREENT  — 10 100 | /112 5 | 30] 26
S| — 11 100 | /1120 6 [12] 9
ZORE)|  — 11 100 | /1112 6 | 17] 12
SR — 11 100 | /M 112( 6 [ 17] 14
HEE]  — 12 100 | /M2 112 6 [27] 6
EAWT  — 12 100 | /M 112( 6 |27 ] 23
AR — 12 100 | /M2 112] 6 [ 27 ] 26




